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QUESTION 1

A customer has a new HCP 500 with 10 storage nodes and 5 search nodes to be configured using the default
configuration. How many LUNSs will be cross-mapped if you are asked to configure switch zoning to support Zero Copy
Failover?

A. 15

B. 20

C. 30

D. 45

Correct Answer: B

QUESTION 2

A customer has two namespaces with different Data Protection Levels. They have an application which mirrors data to
both namespaces. Which statement is correct about the Duplicate Elimination Service?

A. Space will only be consumed by one copy of the document in each namespace.
B. There will be no benefit as the DPL levels are different across the namespaces.
C. Space will only be consumed by one copy of the object across the entire HCP.

D. There will be no benefit as the DPL level is not controlled at the namespace level.

Correct Answer: B

QUESTION 3

How should the RAID group(s) and logical volume(s) be configured on a HCP 300 node?
A. three RAID groups each with three logical volumes

B. three RAID groups each with a single logical volume

C. a single RAID group with a single logical volume

D. a single RAID group with three logical volumes

Correct Answer: D

QUESTION 4

Which three actions can be performed using the administrator role on a HCP? (Choose three.)
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A. Create tenants.

B. Download internal logs.

C. Grant permission to view user accounts.

D. Allow access for user account configuration.

E. Permit a user to view system status with the System Management Console.

Correct Answer: ABE

QUESTION 5

You are adding two more volumes into each node of a HCP 500 DL. The storage administrator informs you that all SAN
volumes have been created, zoned and presented to the HCP. Which LUN number presented to the HCP will cause a
problem?

A.5

B. 128

C. 130

D. 131

Correct Answer: B
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